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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo x 2S = -110 1t 3H -2 -100
2 2] d 1t 4S +1 650 1t 4S = 620 1
3 panyiic] Jris] 3NT +2 -660 Jris] 3NT +1 -630 1
4 =] 1t 2C -3 -300 [£3] INT -1 -100 5
5 2] Jris] 2H +1 -140 Jris] INT +1 -120 1
6 |H&Al E 3C +1 130 1t 4C = 130
7 =] [£3] 3S = 140 [£3] 4S -1 -100 6
8 NTo x 5D = -400 [ri] 4S -5 250 12
9 pangiic] x 4HXx -1 200 x 4HXx -1 200
10 | VB [£3] 3C = 110 1t 4S = 620 11
11 | N [£3] 4S = 420 [£3] 58S = 450 1
12 | @it [ri] 3NT = -400 [ri] 3NT -1 50 10
DATUM#:it T
SRl IR Y. X+ 7 a1
BRI/ HE RS 17 K/ EE 21 ait 7 41
=R/ E5R 21 2ohte /RIS 17 V.P. 2 18
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 |wxkl 2| 1s | +2| 140 & | 25 | = | -110 1
> |&tl 4t | 4s | = | 620 | 4t | 4s | = | 620
3 |zmm| & | anT | +1 | 630 | & | aNnT | +1 | 630
4 |wal & |aNnT| = | 600 | & | 2¢c | 2| 200 | o
5 |mdt] &= | 21 | +2 | 270 | & | 2H | +1 | -140 1
6 |&A| dt 3H 2 | -100 | & 5C -1 | -50 2
7 |wal w8 | 4s | 1 | 100 & | 4s | -1 | -100
8 |wx| = | ep | 2| s0 | & | sb | = | 400 | 10
o |zm| & | spbx | 2 | 300| 4t | 3s | 2 | -100 5
10| wa| 46 | 4s | +1| 60| & | 3c | +3 | 170 | 10
11 |wk|l & | 45 | = | 420 | ® | sHx | -4 | 800 9
12 @l = | anT | +3 | 80| & | aNT | = | 400 ]| 6
DATUM% it L
Kighis EMER ¥ 3+ ] 35 | 18
BEE/ IR 7 ToR/EinR  -14 ait 35 | 18
BRG/55E 14 TR’/ B/ e -7 V.P. 14.93 | 5.07
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo Jris] 2NT = -120 x 2C = -90 1
2 2] ¢ 1t 2S +1 140 1t 4S = 620 10
3 panyiic] Jris] 3NT +1 -630 Jris] 3NT +1 -630
4 =] Jris] 3H -2 200 [£3] 2NT = 120 2
5 2] Jris] 3NT -1 50 Jri] 3C -2 100 2
6 panyiic] [£3] 5Cx = 550 1t 3H -1 -50 12
7 | WEl B 2S +1 | 140 it 3S = 140
8 NTo 1t 6SXx -5 |1-1100 R 6D -1 50 15
9 panyiic] R 3H -1 100 R 4H -2 200 3
10 | N8B 1t 4S = 620 1t 4S +1 650 1
11 | N [£3] 4S +1 450 [£3] 3S +2 200 6
12 | @it [ri] 3NT +1 -430 [ri] 3NT = -400 1
DATUM%it L
ERX(ZIk I r. X+ 20 | 33
IEs/AEK -3 TAE=/XIR 16 ait 20 | 33
ZEN/EIE 16 BRIBLE/FEM 3 V.P. 6.03 | 13.97
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo Jris] 1S +1 -110 x 3D -2 100 5
2 2] ¢ [£3] 3C +1 130 [£3] 4S = 620 10
3 panyiic] x 3NT +1 -630 Jris] 3NT +1 -630
4 =] [£3] 2NT 1 -100 1t 3D = 110 5
5 2] d [£3] 3D -2 -200 Jri] 3C -2 100 7
6 panyiic] 1t 4H 4 -200 [£3] 3C +2 150 8
7 =] [£3] 3S = 140 [£3] 4S -100 6
8 NTo x 5D +1 -420 1t 4Sx -3 -500 2
9 pangiic] [£3] 2S +1 140 x 2H +1 -140 4
10 | N8B 1t 4S +1 650 1t 4S +1 650
11 | N [£3] 4S +1 450 [£3] 4S +1 450
12 | @it Jris] 3NT = -400 Jris] INT +1 -120 4
DATUM#:it T
b ez =6 | 5 | «
MIIR/RZZ -21 R/ PR A 12 ait 15 42
SKEEE/fEFE  -12 gR/ESNE 21 V.P. 3.09 | 16.91
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 |wWxk| % | 3NT | 2 | 50 /| 2NT | = | -120 ] 5
2 | &Edel it 2S +2 170 1t 2S +2 170
3 |zl & | 3NT | +1 | 630 | 7 | 3NT | +1 | -630
4 |wal m | INT | = 90 B | 2NT | -1 | -100 ] 5
5 |gdt|l & | 2nNT | 2 | 1200 | & | 2nT | -2 | 100
6 |&A| dt 3H -1 | -50 it 2H -1 | -50
7 |wal = 4s | -1 | -100 | *® 5H | -2 | 200 7
8 | WL A 3H +2 | -200 | 1t 3Sx | -2 | -300 3
o |wA| zx | 44 | 2 | 200 | zZ& | aNT | -2 | 200
10 |Wwa | 4t 4S = | 620 | 4t 3s | +1 | 170 | 10
11 |WE| @ | 4sx | +1 | 690 | & | 5sx | = | 650 1
12 |®gdt] @ | 3NT | = | -400 | # | INT | +2 | -150 6
DATUM%iit 5 E
I'&Fa I e y. S+ ] 24 | 13
Sk =/} CAREN 7 s BR/XUAR -2 ait 24 | 13
(R4 /H%e 2 D |E/SE R -7 V.P. 13.45 | 6.55




